Inferences (Part I)
As a good defender, you are going to have to make decisions based on inferential information constantly. You must ask yourself questions such as: “Why didn’t declarer draw trump?” or “Why hasn’t declarer attempted to set up dummy’s side suit”? You will also be expected to draw inferences about your partner: “Why didn’t he lead the unbid suit?” or “Why didn’t he lead the suit he bid?” When you can start coming up with reasonable answers to these common questions, you will likely become a feared defender.

Inferences come up at the bridge table on nearly every deal. If you truly wish to elevate your game, you need to make decisions on the assumption that declarer knows what he is doing.  Once you begin to assume that declarer has made the correct play, your correct response can often be worked out. Of course when declarer makes an illogical play, such as stranding a winner for no reason, you will often go wrong on defense as well. This is not a major concern. When you give back something that the opponents always could have had, you’ve lost nothing. When you give them something they weren’t entitled to, you’ve committed bridge murder. Good defenders lose no sleep about misdefending when declarer makes an illogical play. That’s natural and expected. Learn to make the right decisions when declarer is playing correctly, and you are on your way to the winner’s circle.
Let’s look at some simple examples of common inferences.

1. You are defending a spade contract holding 5 diamonds in your hand. Dummy comes down with an unexpected  

     five card diamond suit. You lead the King of Hearts and partner overtakes with the Ace? Could partner be void

     in diamonds? Answer: NO. If he had a diamond void, he would have allowed you to stay on lead.

2.  Spades are trumps, you lead a low heart, and dummy hits with AQTxx in diamonds.  Partner wins the opening

     lead and shifts to a trump. Who has the King of Diamonds? Answer: Partner!  He probably has the Diamond

     Jack as well. If partner is willing to make a passive lead here, he must not be afraid that declarer will draw 

     trump and run the diamond suit, discarding all his losers. Partner’s play should promise that the diamond suit is 

     not a threat.

A frequent inference is that when partner leads low in an unbid suit, that he does not hold Ace-King in another unbid suit. That lead would be much more attractive, and you can infer that partner must not have it.

3.  Spades are trumps and partner leads a diamond. Dummy hits with 3 small hearts, and you have 4 hearts to the

    Queen. It’s safe to infer that partner does NOT have the Ace-King of Hearts. Either declarer has them both, or

    they are divided. Reasoning like this can often help you count out the known points in declarer’s hand. If, during

    the auction, declarer has limited his hand to say, less than an opening 1NT, you can infer that he has at most 11

    points outside of the heart suit.

Another common inference is when partner leads a trump despite hearing an auction where dummy is going to be coming down with a long or fairly long side suit.  The inference is that partner has that suit under control.

4.  Partner bids a suit, yet leads a different one.  This usually means one of two things: Either partner has a major 

     tenace such as the Ace-Queen, and doesn’t want to risk setting up the King, or he is leading a short suit and     

     looking for a ruff. If you work out that it is short suit, you can often infer that partner has a trump control.
5.





North (Dummy)





       C♣ A Q 5



West (you)



       C♣ K T 7 3 2   

You are defending a heart contract and decide to lead low club. Dummy plays the Ace. How many spades would you expect declarer to have? Answer: One, (or else declarer probably would have finessed). 

That one was pretty simple. Suppose declarer plays the Queen. Who has the Jack? Answer: You can expect that partner has the Jack, or declarer would have played low from the dummy. See how easy this is? 






6.





North (Dummy)





       C♣ Q J T



West (you)



       C♣ K 7 6 5   

Hearts are still trumps, and early in the hand declarer initiates clubs by leading low toward the dummy. Who has the Ace? Answer: Clearly partner, or declarer would have started clubs from the dummy.  If you rise with the King here, you may expose your partner to a ruffing finesse later if declarer only has a singleton club. 
7. 





North (Dummy)





       C♣ T 6 5



West (you)



       C♣ K Q 8 3

Still defending hearts, and you lead the King of Clubs. Partner plays the Seven (if you are playing upside down), or the Four (if you are playing standard). What is going on here? Does declarer have the Ace-Jack?  Answer: Partner has either the Ace, Jack or both, because if declarer had both, he would have won the first trick, thus insuring a 2nd trick later with the Jack or Ten. Most likely, partner has Jx, Ax, Jxx, AJx, or Axx. In any event, you can infer that partner must have at least one high honor is clubs. 

8.  





North (Dummy)





       C♣ 5 3




West (you)



       C♣ Q T 6

Hearts are still trumps. Early in the play, declarer leads a club from the dummy plays the Nine, you winning the Ten. What is going on here? Who has the Ace and King? Certainly declarer doesn’t have both of them, or he would have played Ace-King and ruffed a club. You can be equally confident that partner didn’t duck the lead from dummy holding both high honors. Therefore, the Ace and King are divided between partner and declarer. Does partner have the Ace?  Answer: NO. If declarer had an unsupported King opposite a doubleton in dummy, he would have played it, hoping to lose only one trick in that suit. We can be reasonably sure that declarer has 3 or 4 clubs headed by the Ace, and is simply ducking a round of clubs in preparation of ruffing one or two in dummy.

9.




North






♠ 3

You are defending 6H after declarer has opened 2C and then





♥ J T 5 4
bid hearts strongly. You lead the King of Clubs, and declarer





♦ 6 5 4 3
wins the Ace. Declarer plays two high trumps, partner dis-





♣ 6 5 4 3 
carding two spades, and then plays Ace of Spades and ruffs a


West




spade.  A third trump is played to declarer’s hand and he


♠ K J 9 8

proceeds to run all of his trumps and the Ace-King of Diamonds, forcing you


♥ 3 2


to pitch down to one card. Do you save the King of Spades or the Queen of 


♦ 8 7 2


Clubs? Are you wishing that you had seen partner’s count signals? It’s com-


♣ K Q T 2

pletely unnecessary.  Declarer’s last card is a club. If he had a spade left, he 





must be a lunatic, because he could have ruffed the spade on the table before drawing all the trump. Defenders must always assume that when declarer does not trump losers on the table when there is a short suit and sufficient trumps, it is simply because he doesn’t have any losers in that suit. 
Declarer’s hand was: ♠ A7
♥ AKQ9876
♦ AK
♣ AJ

The contract is unbeatable, and you couldn’t beat it – but by properly saving the right card, you would have earned some points in a club game or a tournament. 
Switching to No Trump, but you are still leading clubs: 

10. 





North (Dummy)





       C♣ Q 6




West (you)



       C♣ J 9 4 3 2

You lead the Three of Clubs. Dummy plays the Queen, partner the King, and declarer the Ace. Who has the Ten? Answer: Almost certainly partner. If declarer had ATx, or ATxx, the proper play from dummy is low, to insure two club tricks!  It IS possible that declarer has Ace-Ten doubleton however. If the bidding marks declarer with 3 or fewer spades, lead the Jack next, expecting partner to unblock the Ten if he holds it. 
11. 





North (Dummy)





       C♣ Q 6



West





East (you)


       
C♣ 3   





C♣ K T 7 4   

This is a combination 9 out of 10 would get wrong. Partner leads the Three of Clubs against a No Trump contract. Dummy plays low. What card do you play? Once you understand what declarer would have done with certain holdings, your play becomes clearer. If declarer had C♣ Ax or C♣ Axx, he would have played the Queen from the table. Therefore, declarer does not have the Ace, but must have the Jack. (With 9xx or less, he would have had no choice but to try the Queen). Your proper play is the King, as declarer may have Jx. 
12.





North (Dummy)





       C♣ A T 5



West (you)





       C♣ K 7 6 3   




This time it doesn’t matter whether you are defending a suit contract or No Trump. Early in the hand, declarer leads a small club to the Queen and your King. Who has the Jack? Answer: Your partner must have the Jack, because if declarer had the Queen-Jack, he would have led spades from his hand rather than from dummy. 
13.





North (Dummy)





       C♣ K Q J T 5




West (you)





       
      C♣ 7 6 3

Declarer is playing a No Trump contract, and there are a few side entries to the dummy, yet declarer never touches clubs. Who has the Ace? Declarer must have the Ace, or he would have established the suit early. As a defender, you should assume that declarer has 5 club tricks whenever he wants them. The same would hold true if dummy has a strong side suit missing the King such as AQJTx, or AQJxxx.  If declarer does not go after this suit immediately, it is almost always because he has the King, and is trying to conceal his strength – often hoping to steal a trick before the defenders can cash out. Don’t be asleep at the switch! 

13.





North (Dummy)





       C♣ A 7 6




West (you)





       
      C♣ K T 4 3 2

Against a suit contract you lead a low club and declarer takes the Ace. Who has the Queen? Answer: Almost certainly your partner, or else declarer would have allowed the lead to run to his Queen. Later in the hand, if you need your partner on lead, it should be safe to underlead your King a second time.
Inferences from the Bidding:
If you pay attention, there are countless inferences that can be made. Consider these basic auctions:

South    West    North    East (you)

Partner leads a heart and dummy comes down with 2 spades. You 
 1D
  1H
    2C
    2H


hold 3 spades. How are the other spades divided? Answer: Almost

 3D
  All Pass



certain partner and declarer have 4 each – or else the suit would have 

been bid. In addition, either partner has a weak hand, or short clubs, since he failed to make a takeout double.

South    West    North    East (you)

 1NT     Pass
  3NT
  All Pass

Partner leads the Heart Deuce. Both you and dummy have a double-

ton spade. How are the nine missing spades divided? Likely declarer

has 5 and partner has 4. If partner had 5 spades, he would have probably led one.

South    West    North    East (you)
1NT     Pass
  3NT
  All Pass

Partner leads the Heart Deuce again. Declarer wins and starts leading







diamonds. Partner shows out on the 2nd diamond. What is partner’s 

distribution?  Answer: Probably 4-4-1-4. If he had a 5 card suit, he likely would have led it.

 South    West    North    East (you)
  1H
  Pass
    1NT     Pass


No matter where the auctions ends up, assume South has 6+ hearts. 

  2H

South    West    North    East (you)

What can you infer about this auction? You should figure that dummy
  1S
  Pass
  2C
   Pass


has at most 1 diamond, for a player that bids two suits and then sup-

  2H
  Pass
 2NT
   Pass


ports (not prefers) a 3rd should have a singleton in the 4th suit. What 

  3C
  Pass
 3NT
  All Pass

about the North hand?  North is presumably aware of South’s distri-





bution, yet persists in No Trump. North bidding suggests he must 
have excellent diamonds, for he is facing a known singleton. Assume you are East, and must make an opening lead against this sequence of bids, and this is your hand:  ♠ 763
♥ JT
♦ A542
     ♣ JT65.   Your reasoning should follow these lines: The normal club lead is out, since partner must be short in clubs. The diamond lead is unattractive due to lack of intermediates – an important factor when leading into presumed strength. You should settle on the Jack of Hearts, because your partner must have at least four, more likely five. How do you know this?

Defenders always assume that if the opponents have an eight card major suit fit, that they will find it in the bidding. Therefore, it’s unlikely that N-S have 8 hearts between them, giving them seven or less. If they have seven hearts, partner has four, and if they have six, partner has five. See, bridge is a simple game! 

North       South    
You hold: ♠ A4    ♥ T875
♦ 9764     ♣ QJT 
  1D
      1S

Working out partner’s
 distribution from the opponent’s bidding can lead to some very
 1NT
      2C*
successful defenses. What should you lead? Your normal lead would be the Queen of 
 
  2S
      3D 

Clubs… but not this time.  They have each bid diamonds, and there is an excellent
  3S
    4NT 
chance that your partner has a singleton. With the Ace of Spades as a certain entry, your
  5D
     6S 

lead should be a diamond, planning to give your partner a ruff. 
A clue to a defender’s holding may come not only from the opening lead, but also from how long it takes him to make it. For example: put a defender on lead against a No Trump contract with:




♠ QJT93   ♥ A43
♦ 65    ♣ Q87

And the Queen of Spades will hit the table before the final pass card is picked up. Give the same defender:




♠ 8643    ♥ KQ3
♦ JT     ♣ T432

And the opening lead will likely come out much more slowly. You can take it to the bank he does not have a clear cut lead and the opening lead may well be from a short suit. 



















South	West	North	East


 1NT	   P	 3NT	All Pass


























